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1. Z0{&l F0{ 37|
- O REs we o
The trees in the garden are lilacs.

A I inthe gardenO| 30{ The trees& $4| Helol &= LR = 2k Elolct,

The baby looking at his mother looks

| s4%4 2 A7} 70f The babyE 24!

happy O{P{L & BlatE = oby|= W=al molct.

| : The baby looking at his motherg& ‘F5’
2l 5}, looks happyE ‘&%’ z2}1 siC}.
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1. Z0{Zl F0{ &7|

- toE ™A} 301
.~ To express feelings frankly is good for

your health.
= It is good for your health to express

7H30] o]
feelings frankly-%@% £53| A A Sale] Ao Eof
« SHAHI} 301
Taking a walk every day is good for your

health. o vuse s 220 20

il
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1. Zo{Z 0] 37|
« ALEO| =0

That he is rich seems true.

that®o| 0]

= It seems true that he is rich-

7FFol Aol

Whether he loves me or not is not

whether®0| o

Important to me. =iz vesieconis v sasm g
What you told me last night is true.

ZA At whatE 0| F0f L7t Ltoll Al of BUigfoll RERIE 22 Atdolct.
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| watched the m ovie that is popular these

| ZHA CHH AFE O] the movieS $=4]

e toRFAIRI S0
| He wants to travel abroad next vear.

d= Hdol =522 o™l IH7|E | st

| know how to download this program.

rel2AHto T E AL 7H =0 Ls ol =233 thaj | st B ot
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2. 20T [H0{ &I

e ENAIRTI 20§
She enjoys walking along the country road.

J=AlESZE w2t = A E2ch

- EARH0| SH0]

We believe that he will come back.

that& ol =& 0f F2lE 7t ot A2 L
| Do vyou know how old your teacher is*
Mg o220l 5H0o] He ) MAYo] = Atol = ofL?

People may doubt what you say.

A AL what® 0| SX0f
AFEE2 U7 Lsts AE AN 2 ECL
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3. Z0o{Zl FAHH0| &7
« HO{7} pal= gk o

He will be a scientist who is famous

Iy | BAHAIEO]| a scientistS $=4!

around the World = Msloll M R E 8 TstaiztE Rolch.

- to AT} Hof

My plan is to travel to Europe.. =z seo= oz e 20

toFE AL ALY Y

- SEARLE RO

The worst sin in life is knowing what to do
and not domg 1. cmon obm e = s 2ote stor e eetn oz sixl g solc,
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3. Z0{T FHEN Y|

< HAL™O| 20f
. The fact is that he is a member of the CIA.

that® o[ 504 AFM 2 37t ClAL| e @lol2t= Ziol L,

The problem is where we should go.

o|ZAHO| 2ol =ZH <= 2|7t o{C| = Jtof St=LE ZAo|C.

- HBAIR, HIEAL AHEATE 2O

He is afraid of being left alone. - =xwins 22 samen

HEA 20

She stood answering the phone.

AR AL 20

| am interested in nature.

HAHEAEO]
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| B

They found him alive in the woods.

=H0] SHARO : 7t #of 4ot A= 2fO|

| BTERAD SRz

| saw a man sleeping in a subway.

 BHEAP SHEEN

| had my purse stolen on the street.
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4. 20|71 2XZE0] §7

- AHBHAD} SHZH0

| saw a shadow walk into my room.

~ c toR AP SR

| want you to keep vour word.
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5. 20Tl FAIR 79 37|

- Ea, wY, S5 50| BAT

This wild flower blooms only in this area
Fa, AlZEe] BARE
IN SPriNg. o otz zoi of xoioixe me.

| saved money to buy a new computer.

S g LFEIL= SAFE

- AlZH, =, 201, 4 S| HAR
If you telephone him, he will be happy.

=79 FAHH

Eat the carrots though vou don't like them.

eYEo| FAMH
HIS U7} 928 dofstHals Hojal,
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02 to ™A}l > Unit 2 toF- & Ale] 2t

- 0 2t~ W, ~EIIIE 22 siAlE

CTo camp alone in the woods is dangerous.
SO M EXYZSI= A2

= |t is dangerous to camp alone in the

7130l ) EXY
woods.
- 0| A9F : ~ohs US|, ~IIE 2 sME

CiDo you want to play computer games?

ARE AdsIE

- 20 & : '~sl= A(0ICh’, '~517|(Ch)'= s StC}.
My dream is to speak five languages.

57 Ao E st= Z(olch




€2 €3 €% £ €% € € €% € €% €3 £ g3 &% £y £ £%

toF3AIS| SH

2. HBAKY 89 : YA SI0IM BAME o =C}
 c HA+toRHAL : ~BP |, ~5E 22 MBI
You don't have enough ti!ne toldo it.:
 » BA+toF A+ T XA}
| need a spoon to eat with-

(— eat with a spoon)

| have many things to talk about-
(< talk about many things)

HE B SRS AL
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to Jt-IA|.0| REH

3. BAIY EH : FAIXE SAl, EEA S2 10 0L

H iz o| SXZ LIEILHD, '~517] SISHA? 2}

John 8it@beld to take pictures of the

wonderful view. s

o HOl: ZHEe| /IS LIEHLHN, ~SIL7F |, '~SHA?
2fal off & stC}.

She was shocked to hear the news that he

d | ed . 27} SUCHs 2412 S0iM
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| : & ~ Latin is difficult to learn-:sioz=e
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toFAAIS| EH
4. O|E=Al+to ™A}

how to [~5l= ¥, o{EH ~&x| where to oiC|2 ~&x|

what to |zd

fjo
2

ok

Rl

which+ (2HA}) to | o® .2 ~&tx]

e | -0

- 'when to | &xl ~

2
fUSk
R

whether to ~5{O} & x| 2Hojo} Etx|

Please tell me how to get to the station.

Ol H ZX|E

| don't know what to say about that topic.

FAS LEXE

-+ O|FEAl why= CIS 0|l toR™AIE A SHA| ZeiC}.
| don't know why to go.(x)
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= so ~ that+F0{+can't

= so ~ that+30{+can

~53| 20ICHEACH

= |t seems[seemed] that+F0{+ZA}
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toFRAAIL] F£L2 1=

1. too+HZAHFAH +toF AL : LT ~5l{A] --- &
o-||_-_|.

= so+HZAHFREAH +that+F0{+can't+SAIAHS
-+ I'm very tired. + | can't go to the meeting.
=I'm too tired to goto the meeting.

Lis W& o ZeiM 2ol 2 5 |ict.

= I'm so tired that | can't goto the meeting.

~ « That box was too heavy for John to lift-

ojo|&te| Fof

= That box was go heavy that John

cou Id n’t I ift i_t-ﬂ AXE HBE EAHYAM John2 AU E E 7 AU

it2 that boxE 7I2|& . M=F £7}
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toFRAAIL] F£L2 1=

2. EAHSEAH +enough to2 ™A}

enough= HEEA| & Z AL} 5 AL F ol 2foF BFCE,

: ~8 912 S88 3T
= so+EHZAHEAH +that+F0{+can+SAI S

-+ l]an was kind. + He took me home.

lan2 LHE Foll cli2{ct & 2FE S&36] A ™-CH

= lan was kind enough to take me home.

= lan was so kind that he could take me
home.
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toFRAAIL] =L 1=

2. ﬁﬂk}[-‘?-k}henough toE2 ™A}

|—>enw HEEA| & S AL £ A} FH ol 2o shC},
. of OL= I ].
- Y= |_|'|=| §"‘°

= so+EIZAHEAH +that+F0{+can+=AS

-+ My camera is small enough for you to carry
in your pocket. Siorsl 7o

= My camera is so small that you can carry
It IN your pocket. .uieisusszomo vnou g aze me

|t° my cameraS 72|Z. M2F E7}

:@:@:@:@:@:@:@:@:@:@




g2 €3 €% £ €% € € €% € €% €3 £ €% &% T €% €%
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3. seem[seemed]+toF ™A} : ~olf E2ICIH[ESC}H

= It seems[seemed] that+Z0{+=A}~
- Her dog seems to understand English.

el 7= ol E olal st HXMH Helct

= It seemed that her dog understands
English.

_ » The children seemed to be happy.

1 ofol 2 3 =8t 2

= It seemed that the children were py.
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=2 3174
=11

HO{2 A 0|= EX AL

2xZ{H0f . 2H0|E B35 AYshs Lo|n, 2x{oj o XA/ E

3l 5t F (o] ake| F0f)7} Ect.
e ;eslll ~ | him to go there.
Z=0] want == 0] AL (toFHAD
| see him R
=0{ | hear — 20§ _'T'_'E 1
T X|ZHS AL o (HSSEAD
let . :
: try it again.
have him
==Io1 ~ make | S0 =R 520
F e (SSHAD
1O
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SHMAHO{2 MA0|= BFA}
1. SAHHFE0{+toF ™AL toFR A= SHZAH0]

tell, want, ask, advise, allow, order, expect S

She told Kevin to eat more vegetables.

=H0f SHAHEO] ! eate] @S2 st= FH = SheZt o4 2}, Kevin
A= Kevinol| Al ok & o He2ta eyt

They asked him to speak loudly.

OE2 J0A 3A Esl2tn FERCE

| want VOU to be more careful. u:izczumizen
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SHAHNHE X0|= £FHAl

2. RILSA+SH+ AHSIA|

E see, watch, hear, feel 81} Zo| Algtel X[ZHE Lt =Ct, =7[ch & LB = SAt
o k= | =Ix->i — ﬁz-i?:IE -i
% o —

= I}
| saw Tom break into Ann's house.
=0 SXZH0| : break into Ann’s housel| 8 &S St= Fx|= 17} o2}, Tom
Lt= Tomo| Ann2| Zlol| & sl= A E Sicl.

=

| heard someone shout inh the distance.

L= HelM 527722 X= A S St

Did vyou fee|] the house shake just now?~

L Hol A3 2t 58 R =2L?

—
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02 toF AL > Unit4 S ZAEHO 2 M0l = FHAL

SEHAHOE X0|= F
« KIS B0+ SHZ O]
. RIZEAS] SHAEO} AHRHA} : SO} S
50| HSE 2 SHe RS NASIE0E, =

| saw Tom walk down the street and go
iNnto the park. .- omoises zo weri za0 sopie 22 user

- KIZSAIS] SHZE0{7} HAEAL : SH0{J} St
2 sl= S0l X|AZ[S0iE, =21

| saw Tom walking down the street.

LHE TomO| AHZ| & 20 27t A= BE5E EUct
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SHALHOZ M0|= XA}
3. AlIS A S0+ AHBIAL

make(AIE’IE—”O) have AI9IE} 7I-H=I--IIA|) -r’[(cﬂa'-L stch) 52| SA}

AR BRE

She made me waijt outside the store.

0] SHZALO0] : waite| #E2 5t= FH = SheZt otHZl me
| = WA ZH sl A Tl ke =5 AlZict
) I had hlm paint the fence_L—FE:U}%Q%Q%&;@Q

A

r|r
rulo

a2t

He |et me drive his car.-=uwizenssz o
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SHAHNHE M0|= 2FHAl

4. help+2X0{+to B MAHASHEA A
' toRHAHHAERE™HA= S 2401
helpeE SHZAHO|E toFRE ™ALl HABRFHAIE

AR A
= o 21CHL

Bill helped Jenny (to) clean the floor.

Jenny will help me (to) write the report in
English.
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toR™ALQ]
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o

to run fast.
S

| : It is hard
- o || EAl A}

S otz geils A2 g Sch

It is kind
715=0q SAt || 94, EIE2] FEZAl

to say so.
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tostRALe| oln|Ate| =01, £, SESIAL
1. toF EAl2] 2|0]&ke| 301

- for+S X2 : UHIXOI toREHAL2| 20|k 0]
SEH

It's natural for you to get angry..oisusze sesa

olo|Ate] T : to get angryE = A2 you

It's necessary for her to leave here soon.

= 7| E 2 He 2RI Ut

This song is too difficult for me to play.

o & 7t AFst7[oll & 7 o{E .

This is big enough for my father to wear.

0[Zd2 ofHX|7} 7|0l &3] 3.
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tostFALS| olnjafe] F0f, £, S

y T ©y =1 H

1. toFEAl2] 2|0]ake| 301

- of +BHZ 1 AIR2| M - EJSE LIEILIE HEAl
(H]':=h, EEe| 2lof) FoflA{ 242,

kind, nice, smart, wise, foolish, stupid,
silly, careful, careless S

It was stupid of him to believe her.

It was careless of her to take the wrong

I HAE &R EF HA2 B30t
bus.
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tostAte] o|njafe] F0i, B, SERYAl

Grammar’

. ojojAte| F=0{E ut2 g5l x| b2

1) to2AAlS| ojOjAte| 0] = iHIOl
It's very important to study English In
Korea.

2) toFEALL] 2jOojake| 0 = EF2| 01
John was too busy to help you.

3) TSAHZEE0{+toFEAL HEHOAM = == 01
7} 2jo]&k2| =01

Tom wants me to help him.
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tostRALe| oln|Ate| =01, £, SESIAL

2. toR™AIS| B : to HIE 2}0f| notO|L} neverE
AL},

Jack told me pot to touch anything.
Jack2 Lol 7| obf = REX|X| 22t Y CH
He told me pever to go there again.
i J= Lol A JRofl chAl= 71X 22t 2ot
She left earlier than planned in order not

in order to2| £™ = to 240l not= £2cC}.

to see him. ous s o sosa nam am sy
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3. SERHAL: SR M0|HM 28 HAE

Fo{ ELl.

strange to say 0|&}st Of71X|2t (to be honest Alale

to tell the truth AlE 251 | not to mention ~2 2 A= glo]
so to speak 29, 25X [to be frank with you | £Z15] 25HAM

to make matters worse | MAjAlo =2

Strange to say, | have dreamed the same
dream for three nights_OIIé}EFOH?III”._P,L}ES"E'%‘.’_F%’E*%E%i‘ioi.

To make matters worse; it began to rain
heaVily. suwiwez v ysm oo amme.
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Playing tennis |—| is |—| my hobby.
My hobby |—|is|—|playing tennis.
| |— enjoy — | playing tennis.
| |—| am good at |—| playing tennis.

80000

(Z201)

(£01)
(SA2] 5F01)

(HX[AF2] S5Z01)
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SYAK= 2F0IM TAPL 5t HEH(F0l, 20i, S
0] B S SHHM SAle| HE(SH0], Hof, £

Becoming a doctor is hard. (301)

SAPLE = A2 - SHAZE SAFKE 20{(a doctor) & F &

Your problem is eating too much. (&20{)

L 2ol = Z(olch - SHAIESAIM B $4{0](too much)E F &

| like surfing the Internet. (SAl like2| £%]01)

2IE{Ul MESt= A S - SYAPL SALME =X 0i(the Internet) & F 2.

Kevin was interested in tak'ng pictures last

ARIS W= 7

vear. (Hx|A} inQ] 2&0{)
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2. EHALS| B3 : ££30] not, never S

Tijo
Ok
08
Pl

K He is proud of never being late for school.

- Not saying "Thank you" is rude

ZAretct” 2t YR s A2 F3 5ot

&%
S
&
&
&
i‘@ K | have a habit of not going to bed before 10.
.@.
&
&
&
&
&
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S M= SYAl 20l &27HS 2= Zi0] AF0]|C}.

 TO{HINIME SRAS LI St
| am sorry for my son's being late. ooz
My sister doesn't like my riding her bicycle.

W7t 42 AIEHE Bl A E

| can't stand him shouting when he is angry.

L= a7t 22|x|= A E &E 5 |lct
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S3ALL| ojojate| F0{(S&E dol= FH)S &
olX| d= 8<%
1. 82| 017} 2joj &2 Fo{ uj

| am sorry for peing late.
2. 20| &e| =017} LI ij

Eating too much ice cream is bad for our

health.

3. =82 =017} 2|0j&2| =01 Ij

Please forgive me for making some

mistakes.
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STALS toR WAL SHUE Hsts SA}

1. EMAIE 202 25t =A}

avoidawss enjoy finish minde:s give Upeiso

~ You should avoid eating before you go to
' bed.

~ Have you finished cleaning your room?
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03 SHAL> Unit 7 SH AR} toFHALE A0 £ #5t= SAl

0= Fol= SAl

2. 1o YAIE SHOZE Fol= SAl

decide expect o hope
plan promise want wish

| have decided to carry out my plan.

LiE W) A& & sty = 2Rt

| promised not to do that again.
* SHAM= ‘1 ©of| e & EE= 00| 5f1 U=
o’ ol2l= 712 2jo|vt E71 ULL. toFHAl=
‘U= e o’ ol2l= Ojzle] 2jof7t B4 UL.
[t2fA] &2, AlEl, o= S3 LIEIL = SAHwant,
hope, plan S) Fl0l= toS A7} 2Ll
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S 3A2 toFFAIE SHO0{E Flol= SAl

3. SHAICL toRHAIE SH0{ZE F 5= SAl
: 2|o|2| X107} 7{2] 812,

begin hate like love start

N Sarah |oves singing[to sing] old folk songs.

Kelly started crying[to cry] when she heard
- the news.
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~ + I'll never forget meeting him.
4 Lt

0000000000

A2} toFIAIE [SHOIE Flol= S

| -
4. SHAIR} to R HAIE SHO0IZ Fol= SAl
: oloje] xjo|7} Ql=.

remember forget try regret

~ + Do you remember closing the window?

L HES UL UE 7|A5HH?

= A

Don’'t forget to meet him.

£ the A S 9% of2f
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S 3AI2 toF ZAlE SHOZE Fol= SAl

4. SHAIR} toRHAIE SHOIZ Fots SAl
> ojojef =107} US.
- She tried moving the desk, and found it
was nNot heavy. i eusus sxomsd, v wan s 28 wsc
She tried to move the desk, but she couldn‘t.

ad e Myde SHolHI »aL, o 5 sldch

~ * |l regret telling her the truth.LHHWWQWM__
| regret to tell you | cannot accept your

Offe V.= 2o #ere wols 4 gichs R wsil =lof s2tolch,
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STALS toR WAL SHUE Hsts SA}

4. SHAISH ORIALE SH0IZ M5 SA)
: ojOje| X017} *U=.
- cf. Kelly stopped taking pictures.

Kelly= AFEl B = A S OPHFACE

@ O O

Kelly stopped to take pictures.

Kelly= ARl 2 7| flsi M HRCE
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~ I'm looking forward to seeing you again.
- I'm looking forward to going on a picnic
- this weekend.
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STALS 0|83 F2 T
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(= cannot but+SAI2d)

| couldn’t help laughing when | saw his
haircut.-iows ss 2050 82 2 a0

=1 could not but laugh when | saw his
haircut.

- The film was so sad that | couldn't help

! Weepi NQ-227tuie sl e som 8xl 2 & atatch
~ * Tcannot help+-ing, 7} Tcannot but+3A}
28, HCH=s of Fo{xQl E3o|C}.
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- 3. feel like+-ing : ~5}11 AICH= want+to £ HA})

I feel like eating Italian food.
I don't feel like going out tonight.

000 0




€% €32 &% £2 €2 £ € €2 € £ M £ a3 a4 3 3 %

S3AE 0|3et F2 F=

4. spend+A|ZH+(in+)-ing : ~5H= O AlZHS AL}

O

~ He spent 18 months working on the project.

a2 7|2 oke st ol 18708 S Bich

o spent last weekend watching TV.

0@

© 00

© o

&




ﬁ a"”a g £ £ €72

N~ =
g3 o P&

. 5. be busy+-ing : ~3}=2} H}HC}

~ She was busy cleaning her room yesterday.

o O

' Rachel js busy studying for her exams.

Rachel2 Ale 3&5t=2} dfrerct,

s

O O

O O
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S3ASE 0|8t F2 1=

. 6. be worth+-ing : ~& 7}X|7} QIC}

- This book js worth reading- o == es s
- Are the classes worth taking?zﬁ*—ﬂ%tg%ﬂﬂﬂ%l—l?

SO O

™
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STYALE 01838 F2 T2

. 7.ltis nouse+-ing : ~3i= L& 2giC}
(= It is useless+to52HA})
It is no use worrying about the past.

Aol tisff A&l = ~Eaict.

It is no use trying to calm him down.

OE M™EAF|HD o5 E A29ich.
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=AE2] JiE 0 S
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| SAE | =

(Fof Z2) | |

; | |
- As | he| felt tired, he | went to bed early.

(AlH &23)

&

}@ T -

,'- '+ X 11 X ! Feeling tired, he went to bed early.
L T |
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1. BAFLE2| 1

| SAREC| F0{7} FHO| F0{9} T Ifi, FAR™e| H
| ZAIRL FOIE 2l0HL SALE -ing(HTH2AD 2 HIR
- Of RAFE F0{ £ = ULk 01242 BAIE0l2t2
- siC}.
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=AE2] JiE 0 S

1. BARRE| WY

= Because she finished her work, she was
~ able|to hel‘p me. \ b

X X F|n|shing her work, she was
 able to help me.”’
~ After he had lost his job, he began to cry.

]

X X Having lost his job, he began to
. Cry.
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SAITE| WD 84

. BAEL Y : BAES FE S| =2| 2|
ol tut2} Cl=at 22 2|0|= 2A21C}.
+ 0|% : ~ I§=0j(as, because)
Thinking my father was asleep, | walked
quietly .o szuom s
<— As | thought my father was asleep, |
walked quietly.
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=AE2] JiE 0 S

- 2. BAIREC Y  BAIRES FEIQ| =2| 2HA|

 ofl D2} CHR I 2 20| M0IL}.

« A|Zt: ~&t I (as, when), ~5l= =2Hwhile),
~Z 0| (after)

Seeing the accident, she began to cry.

— When she saw the accident, she began to
cry.
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=AE2] JiE 0 S

2. BEATEL Y : BAIRE2 FE| =2| 2|

 ofl D2} CHR I 2 20| M0IL}.

o« UH  ~2IX|2}=(though, although)

Studying hard, | failed in the exam..:=«uzzume

<— Though | studied hard, | failed in the
exam.
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=AE2] JiE 0 S

. 2AEL EY  EAES FEAL| =8| £
ol t2} Cl=at 22 2|0|= 2291
o = ~2HH(if)
Climbing to the top of the mountain, you
can see the port. .- s s
— If you climb to the top of the mountain,
you can see the port.

0000000000




g2 €3 € £ €% & €% €% £ €% €3 £ g% €% €5 v €%

=AE2] JiE 0 S

. BALEC| Y : BAITES FHILC =2] 2
off 2} ClSaf Z2 2o|= AA0IC}.

- ROHALE : ~SIBA (SAISE) (as), 12T LIM ~

SICH %S 2 (and)

Taking a walk, she ate some cookies.
(SAISE)

— As she took a walk, she ate some

cookies v vae e 7o s
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EAFRE2 T Y
 BAEC| Y : BAITES FHILS =2 2
off 2t Chsat £2 2|0|= 22210}
- BICHALEL 1 ~BIBM (SAISE) (as), I3 LIA ~
SiLHA&£S%) (and)
A black cloud appeared, covering the

whole sky. (A& Z)
— A black cloud appeared, and it covered

the whole sKV.z= =0 umum2as2 950
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F2loll0f & EAIE |

| EATEL| -
| BAFRE20IAM not, never S2| BEXH0O{= EAlQ| ¢
| ~ 0fl =LCI.

- Because he didn't arrive on time, he

- couldn't take the exam.
" — Not arriving on time, he couldn’t take the
exam.

- As she wasn't well, she went to a doctor.
- — Not being well, she went to a doctor.
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F2loll0f & EAIE |

‘ A
2. &3

02

ZAE

. 2EE| S0| 2AFRS0| = 0 CH7H BeingO|L}
Having beenO| AM2FE|0] D}7{EAIE A|Z2HEIC].

MEF TS

hugged me.

+SY BATE
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F2loll0f & EAIE |

0

2. T EANAE

~ As she is interested in math, she likes her
" math class.

- — (Being) Interested in math, she likes her
BAIES| ALK 2t FEO| AHIIEE I TSAH-ing; O|2Z Beings #0{, 0] Being2 M2 7}s.

math class.

- As he was raised in Canada, he speaks

- English fluently.
- — (Having been) Raised in Canada, he

EAE | AIHF(}—’F—’SP—EHIEEF oA rHavi.igi-ﬂD-I—E—/\h 0|2 £ Having been0| 1, 0| A2 42 J715.

speaks English fluently.
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g2 €3 €% £ €% & €% €3 £ €% €3 £ € &3 Fu g% &%

F2|oli0F & EAE |
3. HEAHEATE

Jloll

| EALREe| o|n|E HaksH 5171 SIsH HEAIS B
- AFRE 20l 7 == A0]CL

 AlZte] & AHWhen, After, Before)L} %E2| &
~ =AHThough, Although)= BAIRE 20| A=
. 7"0I EL}.

Whlle taking a bath, he heard a noise.

| 2Am2el ojn|2 Hatsp s17] 2isl HHALS EATE Qo ECf,

HEAHEAIE

:@:@:@:@'@'@'@'@’@:@
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F2loll0f & EAIE |

3. HBAHEAITE

While walking down the street, | met him.
 After finishing her work, Mary left the office.
~ When left alone, the boy would climb into

" his bed.
- Although impressing the interviewer, he
h - didn't get the job. «=czesusuzne 2 ans 2om 2an
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F2loll0f & EAIE |

3. BSAHEAE

~ * While staying in Hong Kong, | met my

~ teacher.

1. TAIZ HEAHHEATE) 8 EE2 BAIE22] 9
O|E HekstA| st Zo|cC}.

2. A|ZtZ LIEI= BAFEOIM=E EF "F0{+be3
Al = MekEl = 9l=0|, While | was staying ...
OlAM | was?}t HEfEl W22 & =X 2ULCI.
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Zo|5H0} B EAITRE |

~ « As [ jt | snowed heavily [ | |stayed home.

||

X It showing heavily, | stayed home.
| S8 AR |

- With+ZE0{+SXlZ A} :

; oiru'_l'j:“] [ |
~StA 2[aE 2
| with+S20{+THEA} : £E2

0000000000
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F2|oll0f & EAIE |

1. SE BATE

- BEAEC| F0{7F FHo| F0{Q} UX|5HK] oM
- EAIE0]| F0{E M= FA|SHC.

- Because it was a holiday, the bank was

- closed.

' — It being a holiday, the bank was closed.
- AS there was no bridge, we had to swim

- across the river.
" — There being ho bridge, we had to swim

across theriver.
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2. H|2IE SE] B2AITT=(50{HE 20|= 2AITE)
=g =APE2| F017} we, they, people, you S
olHIO|O0] AR Z=Ho| F0{Q} UX|5IX| iC{2lE &

= e
MTE22| F0iE Matet 4 9lck

Frankly speaking, you cannot see the movie.

&35 Lol A

Frankly speaking, |&=2&l5]| 2ol Generally speaking,| lHIx o2 Qi5lA]
Judging from ~, ~2 TS Strictly speaking, | &2U5}A 25l A1H
Considering (that) ~, | ~2 12{5}™ Roughly speaking, | CHZ 251X
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SMEAL: TEARIE+-ing, 2
x o = o OF u A ==EXMo=z éclslél'j'll—l' PN | xol_|
r—IO ' %e elojaich,

a shouting girl 22| x| = A4

"with+SZ0{+2AL PEI s Ry
A wounded cat AH% 12 T 2fo|
O Ao|Li= d&S 8Ys ==0{2}

SAL] B0 W2} SE0IM SR, $50|H I}
HEAE 2L},

The bird flew away with its leg broken-

=S50 SEXMZAHO : pHEA}
— its lege F2{ 2 Zi0] of 2t H2{A ZHo|22 &

He was reading a book with his wife
knitting beside him.

EXAL0] : M EA

— hiswifeZF EE7HE & A F sl /e B2 55
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F2|oll0f & EAIE |

3. with+ S0+ HRALDHRAN : ‘~3F M=

o+ with+SZ0{+HEAHSAL XA

- Don't come back with your clothes dirty.

=x{of TEN

ZEHEE M=

* They stood there with their hats off.=x=xzu=

SHof S AL
| - She spoke with tears in her eyes. ===z zsaex
0] M x| Ap
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STt = Ehad| 70| L0{Lt AFZAO|L} AFEfTIS
ok 0

tILIZ}, SIZH0I=  ‘~sICP 2= 20|

Ry has lost his cell phone. He's in

trouble now.

23} : Bp7{9| Uo| HAMOIE Y& 0JA

Tom2 FHTEE oA, X5 L2tet 2Efoll RACt.

Tom |ost his cell phone |ast week.

: SiXlet= Faket ool ¢

XNa2 HUA X HA=X| ZECt
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Have YOU ever seen the movie?

S . .

az |- Yes, | have seen it three times-

(have

has] | 48] 1 AL MECHE B7{FE SHXY7X[ 2

243 40| S

=AD | o1x| gex|)ofal, D RE HAIA| 2 AEo| USKE 21 Uk
HEE X[Z7HX] Al ¢4 Stctn o st}
| saw the movie |ast month-

174

ASIE & Mo EXN AES USIEE TPHA|IXE £&c},




—
o

28 | 1 have already eaten lunch. I'm full.
A=
(have - = of{st= nlxl
lhas] | 2tz : W}7{0f] 22 El 20| Sz Hek= O|El
U | male olo] HO{M X222 HjJ} B E2CH= 9o),
EAD

| ate lunch at noon
el
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ax | He has been absent from school for
otz
(have | three days-
[has]

+ A1 A{2] Yol SR X|=5E

2
FAD | 32 MEE % stmol HAS st U Alg

He was absent from school yesterday-

as | - B0 AlEret 2ol 8t7{0f| EH
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£3 £33 €2 € €H €% €3 € €3 € I T &%

A

1}7{E LIEILl= 2 (yesterday, ago, last
night)0|L} when2E A|&5i= SI220=
elXl2A= S & T+ SiLCl.

When have YOU called me?(x)

— When did you call me?(0O)
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~ +» havel[has] been to+Z&4 : 7| &2 =0| QICHAE)

| ZkCh SICH2IR)

| have been to Hong Kong three times.: ==z«
| have JUst been to the store.:- s

+ havel[has] gone to+Z4 : ~0f] 7} H{C}. 12i
M ofxofl gick(ZEah)

He has gone to Hong Kong. --zzu sz




05 AlEl > Unit 12 S Al 2t&

3. sXli2t=2| AlS5E SR} stz &lH

. STIZEO| A B : =2 IHOIM KIS
2Ef 2| A=
We have been married for ten years.

L BTUE DB | T2 BHOM MRS Sl
A (ZE S0l 53
He has been sleeping for 10 hours.

<— He began sleeping 10 hours ago. He is
still sleeping now.

0
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N

—
sixf2t=

3. edXj2t=o] Al=E SH I sixf2t=z ZiAA

+ MEJZ LIEILl= SAl(have 7}X|11 QIC}, like,
know S)= SIfjIE ZIsisio2 &£ £+ QiC}
She has been having a bad cold for one
month.(x) — has had
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71222} O|2f2=

1. }7{&2 : had+3}7{E2AHp.p.)
- M}7{=C} . 0]X0f] Q1A 20| 1}7{ 0= A|E DX
- YE= 0|k Q)S.

~ +« He wondered if | had been to L.A. before.

7 o|FFE MAMK2 BH

(He)
| + | thought he had peen alive until then.
| (7:“!—'%) A OIH B 27| 2| 2 FOl A%H.
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1j7{2A= 2} Oj2l2A=

1. I17{2t2 : had+ 7 EAHp.p.)
- IHECE ] 0]H0l UAUS o] 17 0= AIEVIX]|
- gekE 0jx(2 AUS.
~ + | told my friend | had bought the music
“ CD. (7E:II'_I-) 2tH o|HMoll & ol mtAHo| &2 ol So | had the music CD then.2| 2|0]

"+ | had finished my homework when she

A= AEO| MAIE )0l of 2t2 = ol S LIEH .

called me. (&)
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}7{2A= 2} Oj2l2A=

2. I{ECt HA oft LS LIEHE T (CHt7H)
| lost the umbrella which | had bought the

| - day before. <usgouanem sos 2us o a0l o vx .
i
had bought lost i
« v v v N

o+ dI7{2tE 2| 2™ : had®l A7{E2AHp.p.) A0
notO|L} neverE £iLC}.

| had never spoken to a foreigner before |
entered college.

:@:@:@:@:@:@:@:@'@:@
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j7{2A= 2} O|2l2A=

3. Oj2f2t= : will+have+17{2AH p.p.)

- exe] AEOIA Of2HE &f et o, 1 0]242] 0= Iy
= 7|E22 of0] uj7ix|e] 2= - At - Fe - A5
= LIEILHI= AIM[O]ICE.

» By next Monday | will have finished my
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The dog is fed every day (by you).

beSAl+p.p.

EZEA+be+p.p. The dog should be fed (by you).

beSAl+being+p.p. The dog is being fed now (by you).

have[has]+been+p.p.|The dog has been fed (by you).
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TSEN2| SE]

0000000000

Y ?%-OI.E oF A O]

Ir

Milk is delivered every morning (by a
~deliveryman).

"We were invited to Mary’'s birthday party
(by Mary).

2 = U= 0= Tby+dHAL S Y=t

- English js spoken in Canada (by people).
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TSEHC| =HEN
2. ZSAe| =SEl : =S A+be+ I 7{E2AHp.p.)

'We should clean the bathroom.(SSEH)

ESA SAHE

]
- — The bathroom should be cleaned.(3+SEH)

ZEAL beSAle] BN
ENETL

~ Animals must not be allowed in the
- restaurant.
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3. ZlsHaio] £=Ef : is [am, are, was, were]
+being+ I 7{2AHp.p.)
Kevin js fixing the roof. (SiXjZIsHH)

. LRI
— The roof js being tixed by Kevin.

3 Xl =I5l & |— A EE J = =
(BITEIS 4 SEH)

Somebody was cleaning the house when |

arrived. (}7{ZIsHsd)

— The house was being cleaned when |
arrived. (}7{ZIH ~SEl)




oI T T T N T W5 S S S S & N S Wil e el

TSEl2| FER

4, siXjjet=2| ==El : have[has]+been+1}7{&2A}
(p.p.)
' Thomas has helped the orphans. (Sixj2t=28)

s ez |
: v

- — The orphans have been helped by Thomas.

(?_ixl-lgl_l'ﬂ ¢§EH) aneey L asg

Tom has repaired the radio. (Sixl2t= )

-— The radio has been repaired by Tom.
(sixlj2t= +==El)
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S=0] 270 — 27H2] $SE) 20| IHs
He gives children presents.
— Children are given presents by

him.
— Presents are given (to)
children by him.

=50 19 — 1742 $=€) 23

We call the dog Mary.
— The dog is called Mary (by us).




oo oo 0GAEH>Unlis4uA Busl 55, 54 £uel tEH

4, 54 =82 +IH|

1. BRI F N Y me] SSE : 454 23

- ZIM=E0{2} 2™ =H0] = L} F02 5l= 5
EN7} 7tS06lCt. 2E=E0{7} F0{= 401 =FE|
UM = ZHE=SE0] 240 to(SAH7t send,
teach ...)L} for(SA}7l buy, make ...)E& £LC}.
ZH=H01 22| to= MEH0] 71SslLt.
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The company gave my daughter a prize.

2+ = 5of =E =25 of

— My daughter was given a prize by the
company.

— A prize was given (to) my daughter by
the company.




S X0{7} 0|2 M0 0{A45 BRI
(=2 SA7} write, read, buy, make S
Jane wrote Bill a long letter.

AL}
ol
=

il

— A long letter was written to Bill by Jane.
— Bill was written a long letter by Jane.( x)
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4, Al BLXLO ¢§EH

O ™l = O™

1. SE7I F I & mie| =SEl : 482l 2F
My father bought me a motorcycle.

— A motorcycle was bought for me by my

father.
— | was bought a motorcycle by my father.

(x)

000600060000
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2. SH0I% SHZE07} S WS FSEY
534 23
- ST £SERO| FOIE M £ 9T, SHZEO]
= SSelol F0{7h 2 4 8trt.

We elected her chairperson.

2x10{ 2x7450{

— She was elected chairperson by us.
— Chairperson was elected her by us.(x)
| saw the boys playing soccer in the rain.

— The boys were seen playing soccer in
the rain by me.




Al-E I:II-’-‘,_II.'.I-.
We heard him play the piano.

SXZAE0] playZ} =SEf 2&0lM to playz HHH.

&
&
&
&
&
. — He was heard to play the piano.
e
&
S
&




- AIHEA make?| SHEO0|E M0l AHBIYAN
toF A= HiELC}.
They will make him wash the car.

SXZAH0| wash7} =SEl 2&0llA to washZ HFH.

them).

&

&

&

&

6
. > Hewill be made to wash the car (by
o

&

&

&




o
.@.

K«
©

> 0 ©
3 O €

3 O €

D O O
3OO
3OO
300
200

000000060

w@W W W W W vV W v W

Unit 16 F2|ol{0f e +~SEH

800000060

oo R o R o o o ¢

-




T2|oll0f = +~SE|
1. by 0]2|2] HAALE AFRSH= =€
+SENOIA] Tby+SEZ, 2= #H|XIE LIEILYX| Dt
by 0]|2]0]l CI= ZX[AP} 20]|= A= RECL
: They were pleased with the result... .-

His room was filled with presents. c=,=x

The box was covered with dirt. c-zoa-
The city js known for its hot spring. --:«--

His books are known to everybody. e 2

- The singer is known as the “Queen of
Dance.” =« zexq
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T2|oliOF et kN

1. by 0[2|2] HX|AIE AlEol= +SEN

:@:@:@'@:@'@'@'@'@:@

- The princess was married to a Greek prince.

~2} # Zstct

o | was surprised at her getting married.-« -
- He wasn't satisfied with my answer.-o=a«
« I gto| B EH

4 I was born in 1990 alH= 199010l Ef Of Stk
' ‘The school IS located On a Nill.o:occcoamsmac
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T2|oliOF et Skl

2. SAFFC| $SEH : SAFT MAS SHLto] SALME

2135101 SSENS BHECH

bring up or25iC} run over (Xtoil) xjo|cC}
call off F| A SICH turn on ZAC}
look after S5} take care of =R}

Jenny will look after the dog.

— The dog will be looked after by Jenny.
She turned on the computer.

— The computer was turned on by her.




g% €3 &% €2 €2 £ € € £H €% €3 £ €% & [y an £%

T2|oliOF et Skl

2. SAHL| +=SEl : SAI HNIE ofLie| SAIAE
F=2ol0] =SElS Bt=Cl.

- The old lady brought up Jim.

- — Jim was brought up by the old lady.

- The boss called off the meeting.

- — The meeting was called off by the boss.

0000000000
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T2|ol{OF et +~SEN

2. EAITE| £EEf : SAIT HAIE SILIS| SAK
F=ol0] =3EiZ D=L}

* It is said that ~: ~2f1l 2ol ZIC}

It is believed that ~: ~2ta1 HO{ZIC}

It is said that she is the most popular
singer in Korea.-u a=ouim oo as sieein gamc

It is believed that smoking is bad for our
health. =« sz 220 ez 2oza.
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Unit 18 had better, would rather,
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had better, would rather, would/used to

@ /
o
@ /
o

23 = By
|
| had better ~5h= 710] Lick had better
+SAH S not

would rather | Xl2}2| ~6}= = 0| |would rather

+SAEY | R not

r

| used to ~of= SHC} didn't use to
+SAEE |~} / used not to




g2 €3 €% € €% & € £ € £ €y £% £ I &Y & %

had better, would rather, would/used to

1. had better+SAIHS ﬁ "had better+ SAIRIE | £ 1 18 nj=x| grooi L An)

2 7 UCt= 9o| & x et 2 Aol A & m F2|Shot.

Siet I AlES= ZSAIER  ‘~56l= 20| SCP
= o|0|0|C}. ™AL had better notO|LC}.
You had better stop playing computer

games.
You'd better listen to me.

| am sick. I'd better not eat dinner.

2H 32 had better not+S ALl &

© 000000000




had better, would rather, would/used to

2. would rather+=SAlsi(+than ~)

MEHSI= #ele 2 ‘Al2l2| ~6l= HOo| CP =
o|0|0|C}. SIEE2] than 0|5}7} Ai=kE|7| = SICY.
BXMS2 would rather notO|LC}.

| would rather walk than take a bus.

LE HAE BV 2ohs Af2l2] HE Aol Rt

I'd rather wear jeans than shorts.

L= HHEEX| 2 oHE A2t HEEX|E o= 20| Rt

| would rather watch TV at home.
I'd rather not drink coffee.

HX 82 would rather not+S A &

0000000000




07 =3 AL> Unit 18 had better, would rather, would/used to

had better, would rather, would/used to

3. would+SAI&S : ~512 $iCH (217{Q] &2)

used+SAIHA : ~512 SUCH (B17{2] =21,
~0[RACH (1}7{2] AFEH)
would= 1t7{2| &= LIEPHLCE (X2 O3
X| o4Cl= 2jnj)
used to= 1}7{8| SZ0|L} AEHE LIEFHLCE. (X
== X 2Ch= 2|O))
used to= HelEl 11712 HEH0| & + UL,

would= & = §iLCI.




had better, would rather, would/used to

3. would+3SALAE : ~5f2 sHCH (1t712] S2t)

used+SAI& S © ~512 SUC} (u}7{Q] &2t),
~0|2ACH (3t712] AFEH)
| would get up early when | lived in the

= used to ge

country. (.pp-l'j'lgl ﬁ-'?-_l-) Lbe AlZof A T 2 0|LIE Yok (XIF2 2K ek
He used to watch TV a lot. (2}7{12] &2}

= would watch JE= TVE %ol B2 #of. (xIZ2 2" gc})

The building used to be a chocolate

= 4= g1Ct.

o=w%ﬂ e= H
faCtory. (I'-I‘j'l_l OIEE ):a%%oqlﬁoﬂsz%%ag—&omq.ma%:%w ofch)

0000000000




had better, would rather, would/used to

-~ need?} need to

need+SAlAE | need?} = FEZO0|LI 2EE
UM =SAl St

need to+SAI2 S : need?} LUISAI= 2221 I
= 0l Tto+3AIAH, 0] 2LC}.

Need | pay now?

You need not worry about me.

He needs to change trains at City Hall.

Did you need to show them your ID card?

0000000000
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COO000O0O0O0 O
CO000000O O
© 0000000 O«

> 0 ©
3 O €

3 O €

D O O
3OO
3OO
300
200




€2 €3 €% £ €% € € €% £ €3 €3 €% £ R % 05 &%

X=Al+have+ 1l 7{2A}

M @ . ‘

. @ . ‘
- should have p.p. ~3H0{0F 3HC}
. must have p.p. ~3iolS ol Salgic
) & ¢
.~ cannot have p.p. ~§1E 2|7} gict
. may have p.p. ~#ExE 220}
) & §

* @ . ‘

& @ . ‘




g2 €3 € £ €% & €% €3 £ €% €3 £ £ R 0% % g%

X=Al+have+ 1l 7{2A}

1. Should have p.p. : '~310{0} =0, 5IX| =3H
CP = e|ojo|cC}.

aiSt= AIE (2SS &Xl) olA] 1171 ALAlof| CHSE =3

L} 4= LIEILHCY.

| should have studied English harder.

L & o @415 Go{8 B2 a0k JCt.

She should have called to her mom.

£ Holol| Al M EHE 3 ofok Yt

You should not have eaten the food.

should Ct20ll not2 £cCt. He 3O 412 HX| Zolof 3t

0000000000
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X=Al+have+ 1l 7{2A}

2. must have p.p. : '~3i=20]| S=IUCP = 2|O|0]

="¢*r= AIE (S SI7H) 0flA DEH ARAlO|| CHSH Z3h
== LIEIALCY.
The ground is wet. It must have rained

Lsts AlE2 B o{R ol H| 7} R Zdo| SB US.

last nlght ol 0| 2Uck. of S 2ol ERLo] HI7F %S ZHolch

He must have lived in America. - =o 22w 0 szae
| must have left it in your office.

LiE Wl AR O & £ 2 Zio| S' el

:@:@:@:@:@:@:@:@:@:@




07 =S A} > Unit 19 =S Al+have+2tH ZA}

XSAt+have+1}7{2A}
3. cannot have p.p. : '~} 2|7} ICP = 2|O]0]
dist= AR (S SIXH)OIA] 2H7{ AR2lof| CHEF 245t
SHH £52 LIERACL.

= TEH=

She cannot have done it.-ioxsusema0
He can't have written the story. wizoovizssepiae.
Tom can't have lent you that much money.

Tomo| LHollAl DA E2 =2 Y FAUS 217t 8lch

Grammar?
could have p.p. : ~& £ Ql9i= Hi

You could have told me!

HiZF LA s F=AC 24E

(5=
o
%)
HJ|0
o
=
)
HJ
¥
Pal
§2
;'l'
L
=




. '® A 07 =S A} > Unit 19 S Abthave+IHH 2 A}
XE=Al+have+1}7{1E2A}

4. may[might] have p.p. : ~HSX|E BEC}
= 2|0jo|C}.

atsHe AIZ(2S BIRH)OlM 247 AtAlOjl CH3t of

Jenny is late. She may have missed the
bUs. s ootz saexs 22a.

The speaker might have misunderstood
the question. . on-zz: o022 0mas0s 2ea

He was depressed at the news of your
marriage. He might have loved you.

d= Ul 2& Ao 228 3t 1= ottt HE AR SX| ZELt.
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g2 €3 €% £ €% € € €% €3 €3 €3 % €% 4 % €% &%

718 174, 71 8Y 17{=

.@.
o (~gicte -t gic)
o
.@.
.@.

A
— xA ==

if+3=0{+1}7{&, =0{+would/could ...
+SAIAS

84 19

“"7}=§0I s|dist Y= 1Y

7184 if+Z=0{+had+p.p. ~, =0{+would/
7{et= could ...+have+p.p.

(~°"EF"| - SHE Hih))
&S HILHE IS




€% €3 &% £2 €2 £ € €2 € £ M £ € I s g% &%

138 27, 718H V2=

171 3

. BITfO] AMAIS HICHE J1A, AMANSH E7{L} SIXAL
Ojafofl AlE JHSMO| B|ulE US JFA, AMAb B
) & ¢

= ZI0|C}.

©000O0

o




08 714 > Unit 20 7+ IHAH, 718 Bt 4=

138 217, 718H fV{2A=

1. 7F84 24

o if+F0{+17{E, F0{+would/could ...+ SA|S
. ~%H:}ﬂ=l ... 8} EIry|
f&2| SAl= 714, be SAI= 21E-£0f 28}
OI were, =H9| ZZEAI= wouldL} couldE £
C}. X

Tof Aol A= F0{7} 1218 ShLt

321 £t mf wasE M7| T st

If ]| were vyoung, chould enjoy this party.

W7t Hehd, e of mhE[E E2 = US HI.

(= As | am not young, | cannot enjoy this
party.)
If | had the new CD, | would lend it to vou.

okl L7} A CDE ZHX1 2L ActH, HollAl 2z S W E .
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JF3E A, 718 1i2t=
2. 7HFEY A=

|- I AMAS HICHE JHEEPILE, TR0l 0| K| =
e US T, A EE 20|Ch

o

@Z@

SO0

© o

%




138 217, 718H fI{2A=

2. 713¥ 1 2=

 If+3F0{+had+p.p., =0{+would/could ...
+have+p.p. : ~S4C}M -.-3U= HIG
ifAde| SAl= Thad+171EAL 2 17{A=2,
FM2 e =S Al+have+I7{E2A}, S £L}.
If she had loved me then, she would have
accepted my present.

(= As she didn't love me then, she didn't
accept my present.)

2 J47F O LHE AMERCHHE, = W M=22 ZolE%

jo

Bl




087|'o|=|>U t207|'o|=|J—|'7'| 7|'c->||=|J—|'7'I2I'E

1Y T, TP aeE

3. ife] Mt

7FS¥0A] ifS MEfstH =012t SAL2| fIX17} b

#iCl (20{d #$)

Were he healthy, he would play outside.

<— If he were healthy, he would play
outside. o o azsce 2o s s e

Had she taken the medicine, she might

have recovered more quickly.

< If she had taken the medicine, she
might have recovered more quickly.

Bef T4 7} ok2 HQUCialH, JlE =2 Of 5| 20| wate s,




0000000
@.@.@.@.@.@.@.

o0
e o

Unit 21 | wish, as if,
without[but for]

000000
000000
000000

> 0 ©
3 O €

3 O €

D O O
3OO
3OO
300
200




08 7t > Unit 21 | wish, as if, without[but for]

| wish, as if, without[but for]

| wish+7}dH¥ 117 ~2}H E3 Hig)|

| wish+7}|&dY nl7{2t= ~QiCHH E8 dif|
as if+71d¥ A Ofx] ~Q1 Zix &
as if+7|8Y A7{24= OFx] ~E X
Without[but for]+3Al, ~0| giC}od
+718Y t7{[718Y at7{2t=] |[~0] iiCHM]




08 74 > Unit 21 | wish, as if, without[but for]

I WISh as if, W|thout[but for]

1.1 wish+7}8Y 1171 : | wish+F0{+SAlL| 117
§:=|(~E|-F_ %E .i":'“)
| wish+7}&Y 117{2t=& : | wish+3F0{+had+ 1}
HE2AL (~SICHH =S i)
" wish+7FdH 1171, = &9l SJiss &Y
L} Xl Af&i0f| CHet Otx|== LIEILH L,
"l wish+7dHY W7{t=, = Bt712| Lo CHst
Of+|== LIEICHLCY.

*
o




€2 €3 € £ €% & €3 €3 £ £ € £y €% &% oI

| wish, as if, without[but for]

1.1 wish+7[dY 1171 : | wish+F0{+SAlL| 1}74
si(~2jH = H=if)|)
| wish+7}dY 7{2t=& : | wish+3F0{+had+1}
HE2AL (~SiCHH == Hid))

- | wish | were as rich as he. .izozwneeszau
(= I'm sorry that | am not as rich as he.)
* | wish | had heard the news. .i:sussanamzsan
(= I'm sorry that | didn't hear the news.)

:@:@:@:@:@:@:@:@:@:@
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| wish, as if, without[but for]

2. as if+7[1dY 1171 : as if+FT0{+SAle| 117{A
(OFx] ~Q21 AXE)
as if+718Y 7{t& : as if+F0{+had+1}7{
EAb (OFX] ~QE! 2R E)

'+ He looks as if he were sicK. =iz ammsan

(= He looks sick. In fact he is not sick.)

~ + He looks as if he had been sick. - zon
(= In fact he was not sick.)

:@:@:@'@:@:@:@:@:@:@




08 7H & > Unit 21 | wish, as if, without[but for]

| wish, as if, without[but for]

3. Without[But for]+3HA}l, +718Y 1174
r el U= A= ik 7S
Without[But for]+3A}l, +7|3H 1j7{2t=
r B0 QU A= fiCtL JHY

Without money, you could not buy anything.

= But for money, you could not buy anything.

= If it were not for money, you could nc(a%tomﬁ)
buy anything.

= Were it not for money, you could not buy

anYthing. o coe, v osus 44 vz 20




08 7H & > Unit 21 | wish, as if, without[but for]

| wish, as if, without[but for]

3. Without[But for]+3HA}l, +71&Y 1174
F el U= A= ik 7S
Without[But for]+3A}l, +7|3H 1l7{2t=
r B0 QU A= fiCt JHY

Without your help, | couldn’'t have finished it.

= But for your help, | couldn't have finished it.
= If it had not been for your help, | couldn't

have finished it.

Had it not been for your help, | couldn't
have finished it. . o csoisocie e 2 oz 2o+ soz 20
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g2 €3 € £ €% & €% €% £ £ €3 £ £ & Jh €5 €%

ZHAICHEARS] &

&
& S : MEHALI} ALE MAAIL AISO[LE S=
- = who/that which/that
F
.@- =194 whom/that which/that
T (e ) (42t 7}5)
o
o whose(+HA}p/
274 N
. o R &= whose(+HA}) of which
@
,'@ ~ M@HAL 8t what
O




o o B B o M o T o B o W o s o T & e S e e

ZHAICHEAR2] &

1. BIEALL] 2

O

- T4 ZUICHHEAL - =4 ZAICHHAIEL| SAl=

F ' = % ==

M3 QIR S0 UX|BHCH

_h @ B A} BATHT AF Qo] SE%AEdJ

. . A Y APE ] Oy wh= o),

. That's the boy and he invited me to the
[I55 : HEA HHEANFO &)

. party.

.~ — That's the boy who invited me to the

| ’ MaAb A |

e party.

.~ This is a machine which makes popcorn.
. - MALT} 3213 B0l 22, BAHHYARE £o| SALE 3913 Elego = &t BEZe = 7|
&
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ZHAICHEARS] &

1. EAICHEARR] A

o BXZ I CHHAL 1 MEE J}=

= 1 =

That's the boy (whom) | invited to the
| 4ot ghejofl =cist 24
party.

This is the computer (which) we bought
vesterday.

:@:@:@:@:@:@:@:@:@:@
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ZHAICHYALL] 2
L ZAICHB AR A

- AFZ BAICHHAL

That's the boy and his birthday is today.

SR+

— That's the boy whose birthday is today.

| (252 B GARE A Melo] 250l Au

| lost a pen and the case of the pen is
silver.
— | lost a pen the case of which is silver.

(of whiche 201X E8)

— | lost a pen whose case is silver.oizuan

000000000 O




ZIAICHHALS]| 23
2. ZHAHICHH Al what
MEHALE Eelsi= ZHHILHHALE what(= the
thing which, the thing that)0| 0|11= ZtA|CH
HAEZ2 E&0AM F0{, 5201, 20{ A== i}

What is important is to do vyour best. -

=P

—

rlo

Show me what you have in your hand. ==«

2l 2ol JIX L A= AHE

This is what | have been looking for. =«

W7t & AU A
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3. &4 BAILHHAL+beSAt+ AT ZAH 271 Z AL

T2 BAUPA rbeSA, £ e JiSsin, o
| A9 HTHRAILE THRAHS MBALE 2151

ogg

Look at the glrl (who is) jogg|ng in the
playground. S%z;oiwxar U 21

Read many books (that are) written in
English. [ ot ot e 4
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€% €3 &% £2 €2 £ € €2 € £ € £ &% fy €% % 2%

Fo|g BALITALS] BY

) & ¢

|

- | know the man |who is a pilot.

’ | & - ' L ! glelziol 1 uxt
0= Uxjelx] stEbl =.

) &

- lknow Tom, |who is a pilot.

) | @ | 4 > Tome 21 A=, 2= gfd=o|ct
e : Tom0j| CHoll & XjAM|et HE S ¢ei=.

)

P :

) &




£3 £ £ €2 €» £ € & I Js €% &% €%

FAICHB AL SHE

1L BAICHHARR] AISE Y
FMeiAL ,(comma) +ZHAHCHHEAL, 2| SHER=E
FESAHCHHEAL 2| e|O0|= sHA{5i0{, MeHAL|
Chst HEE FI}5i).
My sister Deborah, who is a teacher, lives

(= and she)

in London.. =« Deborahi, WA T, B0 AlCh — mARME HEE 2713

Mt, Halla, which is in Jejudo, is the

highest mountain in South Korea.
Shefat2, M F ol A1, sl M J1E =2 Alto| Ll

— HFxo Jct= YEE FIIE

ocoococooocooo M2
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Fo|g BALITALL] BY

We have two daughters, who became

1 ZHciEALe] AIEE 2
) &
St cf. We have two daughters who became
| _ @ _ ‘ NUIFSEeS. zoloe ==, 25 e 2golaks oo
) &3

NUISEeS. zo =g su, 125 yo Zo| 255t fgichs o)
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5'.-_71IEH""M | SH

1o &
ok

1. ZHCHEAL] AISE SH

-+ ZHICHH AL thatdt what2 ASE SHoZE A0
X| 84=C}.

My uncle Tom, that lives in Sydney, is a
dancer. (X — who® 11 %0} gt.)

| cannot understand, what he says.
(X — ,(comma) &tH|)

:@:@:@:@:@:@:@:@'@:@ M
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ot ZHAICHHALL] &
2. 2H0j| L= 3, E, 282 de= 2AICHHAL which

| tried to open the door, which was

(=butit)

impossible. -:.-
He said he was rich, which was a lie. ::.-

=2=2 =0

(= but it)

Sally passed the exam, which surprised

(= and this) (ot A2 w2

us. Sally7F Alglofl SR, o] AFM 2 22| Sap .

:@:@:@:@:@:@:@:@:@:@




09 ZAHAL> Unit 23 2| & 2HAICHEAS] S

She is the girl. + I've been talking about her.

ZX0] her 2ol MAALZL AZ

— She is the girl who(m) I've been talking
about. s heot 2oz swes sxi s

— She is the girl about whom I've been
talking.=sisrueszezos




.ﬁﬁﬂﬂﬂﬁﬂﬁﬁﬁﬁﬁéﬁﬂ&aﬁﬁ&’%

Folg BAILAHAIL B

3. TXAH+SFEZ ZHAICHEAL

This is the problem. We are interested in it.

— This is the problem Which[that] we are
interested in.

— This is the problem in which we are
interested. oz om0 9s 250

This is the proble m in we are interested.

( % ) IAHJ-U#IEH AL ol dF TAILHALE Y2fe = |lct

This is the problem in that we are
interested .( >< ) ™ X AH-ZEA CH H AL that, 2 273
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€2 €3 €% £ €% & € €% €3 €3 €3 £ £ £ & Ty &%

ZEA|IFAL

MMAL | BHAIRAL BX[AF+ZEAICHE AL
&4 | the place | where |in[at] which
AlZt | the time | when |on[at] which
0|+ |the reason| why for which
Hi | (the way) | how in which
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FH|ISEAL

1. 2 AL where : MEALT| ELAE LIEILY
ol = AR Al whereE £LCL.

&

A
| -

(=]
=

rir

This is the hospital and | was born in this
hospital_ (in this hospital = there)
— This is the hospital in which | was born.

(B R AH-ZEATHH AL

— This is the hospital where | was born.
| (2ASA
¢ = iI(AHyl_lU#I EI-H)%‘AI'J = A FEAIZ HIE $= RUC}.

0{7(7t 7t EfOf it 1 HRlo|ch.
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£3 fﬂ E& f& €3 &ﬁi €3 fﬂ fﬁ fﬁ 4?% &3 ﬁﬁ! E% | R R

ZEAIF AL

2. ZHH|I2Al when : MetiAl7} A|ZHS LIEHLH= 2
= A2 Al whens £LC1

| remember the day. + | first met you on
this day.

(on this day = then)

— | remember the day on which | first met
)[()ll. (M x| AH-ZA T AP
— | remember the day when | first met you.

1 NETTEN
LHe W7h RS LB gkt O ge Jef it
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AIF AL

3. ZAFAL why  MEMALI} 0|7 = LIEHH
= Z2tAIF AL whySE =L}

(=] Je]
==

rir

| don't know the reason. + She left me for
this reason.

— | don't know the reason for which she

left me.
— | don't know the reason (wWhy) she left
A |
me. why 42k J7ts

T

ZHAI B ARl when, where, why2| A& AT}
HIXM ol Zd | & the time, the place,

the reasond I = A E AL MAL S
Stt= M =fo| J74s5tet.
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ZEA|IFAL

4. BHIEAL how : M&HAL7} the way! = M3
Al E AR Al how = SLI2E 2L
This is the way. + She did it in this way.
— This is the way in which she did it.
~> This is how she did it.
— This is the way she did it.
This is the way how she did it.(x)
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+ ZACHEALRE 2AIFALS] XOIE

1. This is the city which | visited M ten
years ago.
: visited?| =017} A 2}S. ZHAICHHAIE

e gelxs 23

o
2. This is the city where | went ten years
ago.
: F0, 280 Se FL Ed M= S & A

0| giS. BASAIYS st 23
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09 A AL > Unit 25 =& ZHA AL

whoever ~ol= 5= =X| =7} ~GlEX|

.~ whatever |~ol= FAUO|EX| |FAZ ~5IHX]|

whenever |~ M= AM=X]| A ~stEX]|

wherever |~ot= O{CIEX| |O{C|M ~SIHX]

however+ S AHEAH OF2| ~stHEl=




€% €3 &% €2 €2 £ € €2 £H €% €3 £ €3 €y JI% ¥ £%

=gt ZHAAl
1.whoever : ~5l= =X | 57} ~stHX|(F2A)
whomever : ~ol= =KX= /

STE ~slHX|(S&2A)

Give it to Whoever Wants it_(=anyonewhowantsit)

a7 g #ske =Tl A EX]

S A G A SAt =0

InVite Whomever you Iike_(=anyonewhomyou|ike)

47k Folste =P EXE

Whoever rlngs tell hlm I m out (= No matter who rings)

T+ HapstH 4Hgkglol
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Sk ZHAlA

2. whatever : ~5}= 2SU0|=X| /
A2 ~5lHX] (A2e10])

000000000

Do whatever yYou liKe. ooaytingtatouiie) s zorsre soi01ex

=g BACHHE AL F0of SAt
Whatever we may say, she won't change

(= No matter what we may say)

her mind. 227} 5atn YstEx|
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Sk ZHAlA

. 3. whenever : ~& 0= AHEX| / K| ~5IEIX|

Call me whenever you need me.

ST EARA F0of SAt H7tLE gez g e AXEX
(= at any time when you need me)

You will always be welcome whenever
(= no matter when you come)
YOU COME. .o omx
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=gt ZHAAL
4. however+SZAHEAH +F0{+ZSA}
: 0l22] ~SlH 2= (= no matter how)

However tired she is, she always smiles.

(= No matter how tired she is) d = olRe| o 25| T

However fast we drive, we're not going to

(= No matter how fast we dr|ve

get there in time. s ose v srmmas
However hard vou do it, the effect will be

(= No matter how hard you do it)

he same. -iose =us ans sioes
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10 H|W 72 > Unit26 7| =42l H|w &

2. ife—’frl#,o;i\/%e,%—g;éi.—inggﬁ ELl= 224 cHo{L} 322 o] Ate| EHojoll= n_th i nner_th i anESt
) / _ arly-earlier-earliest
Folg
%! w5} | - useful-more useful-most useful
- famous—-more famous-most famous
- interesting—-more interesting—-most interesting
- good[well]l-better-best - bad[illl]-worse-worst
=12l - many[much]-more-most . little-less-least
H{S )
H2b | ate(A|ZHE =2)-later (D] =2)-latest(Z]22])
- late (=AM A =) -latter(FHIQ]) -last(O}X|2tQ))




10 H|1 7= > Unit 26 7| =& 2l H|ul +

Ho

less+8 AHF AL €l F+than~
C~HCctd .3

dH
2. H@2= 0|&st H|! : HlZ+than(~EC} ] ---5})

| worked harder than she did.
His report is better than mine.

* He has more free time than |. = zwime s
He has more free time than me. wus zsoe 2=

- H|1d= Hw CHYO0| Z71Lt 22 EF010} SIC}.
This house is larger than me.(x)

— This house is larger than mine[my
hOUSE] n (O) o| 2o} L}= v|m3t Zi0| ofz}, o] Az} Lle| & H|mE




-+ Meg runs as fast as | do.

~ + She does not get up asl[sol early as her

sister. «zums =z

+» as? as ALO|O]| HAPI} = = U2LE, HAL 2H0ll=
AZ A7t 210{0F StL.

| have as many books as you. cesmaie




€% €3 &% £2 €2 £ € €2 £H €% €3 £ €% & v en 6%

7|==ol u|—: 12

| 4. F|AZ2S 0|28t H|1 : the+Z=|AE (M 0|Are] ZH
| 301|k| 71& ~geh)
| + Is this the latest magazine? ox=:uazau

| ate the biggest hamburger in the
restaurant. ve=szinams
« Ann is the most intelligent of all. :.sszomenom
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£ €3 €% & €% € € €% £ €3 €3 £ g &% £33 dh

0ic] 7HX| z|d= &l

the+Z| A2 +of +H| WL AH (S )

the+Z| A2 +in+ &4

H|Z+than any other+El2iA}

no (other)+Cl0iAl+H| 2 +than ~

2= 0| |no (other)+EtrHAl+as[so] +A=+as ~
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0ic] 71X| z| &= #E o

1. Hlu g1 AZS 0|2t |4z #®8l

- +«Jane is wiser than any other girl in my
C | asSsS. o ~2oto -3

= No girl in my class is wiser than Jane.

(5= ~EctH --3x] gke)

= No girl in my class is as[so] wise as
Jane. s = -oz s o)
= Jane is the wisest girl in my class.c=-=
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0ic] 71X| z|&= &l

1.HZZT AZS 0|83 AT EH

~ « Diamonds are harder than any other

.~ natural stone.

= No other natural stone is harder than
diamonds.

= No other natural stone is as hard as
diamonds.

= Diamonds are the hardest natural stone.
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0ic] 71X| =| &= o

2. one of the+Z| A= +SHAl

: 71 ~et - S0|M SiLt

+» This is one of the most popular movies
this month.

You're one of the nicest peop/e | know.
It was one of the funniest parts in this
book!

She is one of the tallest teachers in our
school.
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0ic] 71X| z|d= &l

2. one of the+Z|&Z+HxHAL

: 7t ~8t - SO0IM St

» Tone of the+Z|&dzZ+STHAL 7| F0{E2 2L
= Tt F=setC}.

One of the greatest scientists is English.
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0ic] 71X| z| &= #E o

3. the+ZE| A2+ AL+ (that) +3=0{+have ever+
7{Z2A} - X|ISVX]| ~ct 24 SO0A] 71& -8l

This is the most beautiful picture that |
have ever SeeN. s ustxzni =z solu 7 olgcke agolch

This is the most interesting book (that) |
have ever read. ozsusies 2 sz 2022 5ot
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- 10H[W FZ > Unit 28 Folgt | T2

as+3=+as possible = as+&Z+as+F0{+cancould]
< 7l=Sst ~st[S1Al]

H|ZF+and+H|n= / more and more+&&
<« 88 O ~stH5HAl

the+H|u = ~, the+H|u= -
< ~51H S22 i - 8H 5]

Hi=Al(twice..) +as+&lZF+as
< ~5C}-Hj { ---st




el el o e N N o

Fo|et Hlu 1=

1. H|ug ZXE : a little-», even, much, still,
far, a lotu.

| feel a little better. - zcz0zc
It is much warmer today than vesterday.

OfF EC} 252 WM O mEsict,

cf. This hose is very short.zz==
This hose is a lot shorter than that

(22 2%)
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o8t Hlm TE

2. as+¥Z+as possible : 7}s¢8t ~&HS}AI]

= eixi[DO]2}] +as+2ZF+as+3F0{+can /
t7{+as+@Hzm+as+F0{+could

~ | will be back as soon as possible. sz =

=1 will be back as soon as | can.

~ + As a judge, he tries to be as fair as
possible. :zxs

= As a judge, he tires to be as fair as he
can.
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€% €3 % £2 €2 £ € €2 £H €% €3 £ £ £y £ o 6%

o8t Hlm TE

2. as+2lZ+as possible : 7}=8t ~&HSIAI

= §ixf[O]2H] +as+RHF+as+F0{+can /
t7{+as+@Hzm+as+F0{+could

-+ He ran away as fast as possible. -:u-=y

= He ran away as fast as he could.
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10 H| 1 72 > Unit 28 F2|& H|u &2

3. HlE2+and+H|2=2 / more and more+&3=
: MA O ~st[S1A]
me 22 l-gr gnd -er; 22, ZI S22

"more and more+&3., @& #EsistC}.
It is getting harder and harder to find a job.

(hardel B[ &)

More and more people are enjoying golf.
The story became more and more e
interesting.

-+ 0] L2 get, become S2| SAle} V| AIRE]
= HI} Bl

|




€% €3 % £2 €2 £ €0 € £H £ €3 £ €%

Fo|E H|T PR

| ~EE B4 O - B
. The older | get, the happier | am.
<, Ltol7} S0 248 Lhe Ol S "= sich
. The sooner, the better.
— 2o wES= O Eot.
O

O O

O O
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Fo|et Hluw 1=

5. Hj$Al+as+&lZ2+as : ~EC} - Hf { --- 5t

half, twice, three times, ...

This house is twice as large as that one.
= That house is half as large as this one.

~ Grammar?
Hl~Al+as+ S ZAIS| g +HAl+as
" He has twice as many books as | have.

O= W7t 71l A2 2ufLt == B2 3 E 74| UCE.
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£ €3 €% £ €% € € €% £ €3 €3 £ €% Jr Fa €% £%

IS LIEIL= E5AL

&
) & .

5 EHZAL = LIE}:H O CIE e|0|= 222! I
) & ¢
. as ~gt Ijf, ~st =Z10f| | ~0]7]| U§E0]l, ~0|=O0]
@ . =

~ since ~8t 0|2 () ~0|7]| I{=0il
O
. while ~3h= S0t ~3H= uHoof
h _

: @ ~as soon as | ~S}A0}X}
)

&




g2 €3 € & €% & €% €3 €3 €% €3 £2 £ oy WA €5 £%

IS LIEIL= E5AL

1. as '~y ,'~&ol w2 2| 2|0|=, 5 JHX]
& O|L} S%0] SA|0l &£0{= i =C}.

He held the rope tight as he fell. 2= woz aruoms 220

As the days went on, the rumor was
forgotten. wozouz 2oz qumg
-+ asi= K3 0|RE LIEIE M&Alol7|= Sict.

(~ IHE0il)
As she lives near us, we see her often.

& f2let 7iztol 7] m2oil At 2t

SRR




g2 €3 € & €% & €% €3 €3 €% €3 £2 £ oy WA €5 £%

= LIEIL = &E5Al
2. since : '~st 0|FZ2’ 9| 9|O|=2, 0{= st A|H0]|
M A|ZE 20| X|S &= LIEFHLC].

HE since M= 7] AlAl, FEO0HA{= x|
A= AHIE 2L
I've been busy since | came back from

HFSERC} (S X 2F2) EIMollM Eof2 o|FZ (TA)

hohday

He has worked in the company since he
AL st MEPi Sl 2t=) StwE Mt o| &2 (TA)

left schoo

f@ﬁ@ﬁ@i@ﬁ@ﬁ@ﬁ@i@i@ﬁ@
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IS LIEILHI= E5Al

.~ 2.since :'~8t 0|F2’ 2| 2J0|Z, 0{= & A|Eo0]

M AlEHE 20| X|=5ES LIEIHLC.

» sincez EESt 0| RE LIEILI= H5AL0]|7]| = SiCt.
(~ miEofl)

Since we have no school today, we can go

ON A PICNIC. 2= w0l vois 7212 22 24 31c).
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11 H=HAL> Unit 29 I & LIEHHE T ESAL

3. while : '~5}l11 Q= S 9| o|O|=, F JIXx] &
0] SAl0f] 20t U £2C}.

Mom was cooking while | was having a
sShower. .- ie= 5= =ow

| watched TV while you were drying vyour
hair. . ce=ees so

+ while2 EESI [|EE 0|B= = J1X| 2= LIEPH
M= 2A0ICt. (~6f= HHHO|)
While | like classical music, my husband
likes roCK MUSIC. us nxses somis ve wne 2292 zoec




11 AZAF> Unit 20 T 2 LR E &AL

4. as soon as : '~ siXIOLA} (£)'0|2t= <|O]o|LC}.

As soon as | saw her, | khew there was

LHE O & EAopR}

something wrong.
He went home as soon as he got the phone
call. = oaE e

» I [A|ZHE LIEILI= FAFEOA{= 1 2|o]7} Oj2H
X2t SxjS L.
As soon as she comes, we'll start.

3147t Aok LE| = Al EHE Zdo| ot

I'll wait until Bill arrives here.

L= Billol of7|ofl =&re Wi 7kx| Z|chE Aol
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11 HEAE> Unit 30 =, &, i x| EHAL/ &= 0| F= KA

o HSAL/ BHE 0|F= BSA

if Okek ~SiCjO either A or B
unless Ok ~5}X| oDy A= BE & = 6lL}

neither A nor B

i HiO
though, although, not only A but also B
even though, even if = B as well as A

H|= ~eX|2l= AZOl olL|2} B=




e nEs s U, o
4, & [ES| HM=Al/ == 0

8
-

' 1.=2E LIElLi= if - Qi ~SiCtM
| ZZ1Z LIEILHE unless : Die} 5iX| oM

You will get wet if you go out now.

He & 2 Zolct (o)) A= L7t (olofl= ol ol X2k, MY & £ot.) - FAME

Z=2g LB = FAHEOIA = |22 o|o|2t A& S M oF Fhot,

Unless it rains tomorrow, we'll go on a

pichic.

= If it doesn't rain tomorrow, we'll go on a
pichic.

1
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1, 28, LIE2| H5AL/ HE 0|F= EHAl

i

r

2. 24HE LIEILH= (al)though, even though,
even if : H|F ~&X|2l=

OI7|x] =t Zato} 0]01E! I AL etCt. 017|A{2]
evena Zx2| 2|Ojo|1L, &l HO{M=
though?7} 20| 2A9ILC}.

Though he lied to me, | can forgive him.

HIE 20F A ANUS HA o (SFEE)

Even if you take a taxi, you'll still miss

Bk | 7t B A| £ EiCH o = (2L H)

your train.

©000000000 M
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C|.

Tom is very outgoing while Cathy is very
Tome o} &atsict. B of Cathy= olF =&S0| Hcl.

shy.




€% €3 % £2 €2 £ € € £ £ Fa % &%

=, ¥, XS YEAL B 0|FE HAL

. 4. either AorB: AE BE & & 5lLi
neither A nor B : A®} B = LC} o}Ll

Tom is either very happy or very sad.

Tom2 O} 7[# Lt ot{™ o}F & ZCf.

Neither John nor his parents are at home.

neither A nor BZI &2 T = & A2 SAl= Bol| st&c}.
JohnkE 19| 2Emdl = Fol gict.
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£ €3 € & €% & €% €3 €3 £ s §% &% &% g% o £

=, U, XS YEAL B 1R FAL

. 5. not only A but (also) B =B as well as A

. : AuDiO[L|2} BE

20| FOE AU A2, BHO| SAH= Boj| ¥E

C}.

He told me not only his phone number

but (also) his address.

= He told me his address as well as his
phone number.

= He told me both his phone number and
his address.
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€2 €3 €% £ €% & € £ £ €3 €3 £ £ g% fs I &%

0| x|

| siZ2Y, Ch= FZ2| Aand B

| Chol 7§ o] AlZE, 7{2], 2

| chel JiE2| A and B e "-'sI:':'l, Cix=SAl
e o

- any-, every-, no-, each
- the number of+SX
- B4LL REO| HH+EI-HAL

E

- the+dZ Al (8§ 2|O))
- a number of+=TA} , S3TAl

AL} RE0| EH+EAYAL

© 000000000




€% €3 &% £2 €2 £ € €2 £H €% €3 £ £ &% &k 4% w%
(o] |

—
=
| - =9, B JIE2| A and B, 59 - AlZl - 7{E]
' éi ﬁlaa nynl'éﬂl , politics(& %8}), mathematics(5=2})

Physics is my favorite subject.

Bread and butter is my usual lunch. ===
The poet and doctor is dead. oo e
Dozen means the number twelve. o csnzsszun
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€% €3 &% £2 €2 £ € €2 £H €% €3 £ £ v &k I3 €%

0| Yx|

1.Ek =

~ « each, every, every-, any, any-, nobody,
~ someone =S| EXLHHA}

Everything is ready for the meal.

AALE 218t 2 E Aol 8| =[0] RUCt,

Nobody knows the answer. o==cs o a0
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0| x|

2. 824 32

~ « Tthe+d&EAL 71 5= 2j0|2| ESYAIE F=E O

The rich are not always happy.:qzozs a0z o

~ + a number of +HTYA+FFIAL L B2 ~

A number of people are in the World Cup

Stadium. u=ezo x=z 2oz 20

cf. the number of+STHA+EEFA} 1 ~2|
The number of factories is increasing.

S&2| 7t 715t QUrt.
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. 4017} E= F0{2]| SAl
A
L

Al0{7} mpECi2tE AERI0| SAS| = F0f

One of my friends sings very well.

W HTE S ot Ee a8 o & st

Leaves of the tree begin to fall.

1 Lol S-S HOjx|7| AlAtsict,

The computer which she uses is mine.

A | atAcyeyab=io) 4 47} AR EHE HEE = U Zolc,




0| x|

' 4. B4L B2829o| &8 (all, most, some, half, )
j 2Ll 229 Esi+Ci-MHAI+CIrTAl | 2L B
| 29| Esi+EHAHSFSIAl

Some of this money ijs yours.

Some of the people | work with are very
friendly.

0000000000
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20| x|

-+ Ll #S2 BO| SAIS] = LX|A|ZICE.
« either A or B (.zccoas

Either you or he has to clean the room.
'+ neither A nor B «=ze=-au)

Neither you nor she was present at the
party.

-+ not only A but also B = B as well as A :somizies
Not only yvyou but also Tom likes Susan.

= Tom as well as you likes Susan.

-+ not A but B .siou=s
Not vou but she is the winner.
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l Xl A

- HAE AME 31 ALA|
WM A || 271, BAAZE TtS| | - 7FEE - FE2| AlM|Q} 72
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1. FEL| AN Y I - SS5E2 0™ AlX|E)

A
= & 5 ULk,

| think that he is honest. (S1Xl)
| believe that John will be a lawyer. (O]2})

| know that she was sick. (1}71)
| know that he has been busy. (SiZl|2t=)
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AlX2] Ex

2. FEHOIAMIE MY oY : S&KE2 A17{ EE= T}

~ J{UE7} 9o} B}

T Z2 AM0|M 1y, FEELCE M AH 0]

M nj7{t=2 7} 2LC}.

| thought that he was honest. (1}7{)

| believed that he would become a lawyer.
(2179)

| knew that she had been sick.(1}7{2t=)
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AlXI2] EX
3. AIMl YR12) o2 : FAO| AIMI2H 2AIgi0] M3l
21 AL MOE BHC.

- SHO| ZI2|L} B2 2tA Sixl A A
| knew that the earth is round. (2819| Xlz|

L= XTIt SSH= =

My teacher told us all that glitters is Zﬁyf“

*
gOId =3 ] “4de 2alol ol 35 ol 32 obualm Tasiuch

© 000000000




g2 €3 €% £ €% € € €% £ €3 €3 €3 €3 &h & T gN

AlX2] EX]

3. AlMl 2x12] ofl2] : F=E2| Alxiet 2tAIR10] Hol
ZI AJH|2F A OF StC}.

- 2ZH2| AMAO|LE S2H2 2 Xl AlA|

She told me that her school begins at
eight. (SiZf2] Al&l)
He said that he usually goes to bed early.

(Si7He] =2t)
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3. Al &x|2] ole] : F=E| A2t 2HAIg0] Aol
&1 Al HM|2F A 0f etC}.

o AAIEOI ALAIZ ShAF 1] Al

| khow that King Sejong invented Hangeul.

Do vyou know the Korean War broke out in
19507?
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- SSE0| 7IEE2E HolE B FE2| AlA|Q
- HIS|0)| 295 HIX| Q4=C

‘o X3 — N — |-ol_

| wish | were rich..:sxeeszaa

— | wished | were rich..izxzezazan

He says if he were smart, he could get

good grades. - iecscs se sz s 5 us Ao o

— He said if he were smart, he could get
good grades. - iwescn ze wsz ez 4 gz em v,
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dge |HEHE

=
aid to me, “I'm satisfied with my job.”

N N\

Jim told me (that) he was satisfied with his
job.
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[y — | o
o | - SAY 7 say - thatS 0| (EHAL | - QY HII]
S™= | . say to — tell that2 M2t J}Hs) : MEERIO] QEtofl WA DAL
. O|ZALE 0|2 - AA : HEEL] AIX0f] 2LXIA|
. oA} Si= I 2. (8ixfe] &, Wl Fiz|,
CiALAN ALAl =2 XClsl= 7ioe
o|22 | - ask : iflwhether] AMH A S& HEsh= B2

MRS o+

SAh 2] ol

02
o

MO

- =11 — advise

- HE 2™ — ask
- HEY — order

- XIA| — tell

- 3YYEE2 3=

to2 XA}

. REYHR| B

not+to5- & A}

= AlM Lx12] ofl2l7} &.)

- this — that, here — there

now — then, ago — before
tomorrow — the next day
yesterday — the day
before
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— He said (that) he had a computer in his
room.

'+ He said to me, "l saw the movie two days
— He told me (that) he had seen the movie

U3k Al (W) ECt HEHE & 20| HA (T 22)

two days before.
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« She said to me, "What are you doing?”
(CIZA7L QU= E=)

— She asked me what | was doing.

EEEECENNERES

'+ He said to me, “Do vyou know her?’
(SIZ2AP} Qi 8)

— He asked me Whether[if] | knew her.

Twhether(if)+F0{+SAl, 2| o=
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4. BEZE2| 2 eE
me

* He said to me, "Go home at once.”

(SHEER)

— He ordered me to go home at once.

THESAHAIRHHOFEAL 2 o

N . My sister said to me, "Don’'t go out,
 please.” (BAYzz
— My sister asked me not to go out.

MBS AHAIRHNOt+HO R E AL, 9| o
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4X2| ‘do’ AlE

=AL Zt= ]
| Zbx sit 3 — do[does, did]+SAIAES
T= | F0i, S0, It is[was] ~ that ZX T2 Al
' BHEx MB[XA ]S LIEILIE 2+5F0]
— C} ~21 242 OfL|C}
| R

‘any-, either+53&0{’ EE=
‘no-, neither, never, none’' A=

TE | HHRH

not A until B B 5t11A{0F H| 24 ASIC}
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Zkx =X 93

1.24Z=9| do
'dol[dose, did]+SAIAE, 22 SAIE LX6}]
of, ME=Z, 22’ 2| S52= LIEIHLCY.
| /ike to read comic books.
— I do like to read comic books.

She does play the piano well.-::caozzz2 a0
They did have a good time at the party.

JE2 TEjoM JEE EHR A2 B
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2. It is[was] ~ that ... : --- 8} Zi2 H}2 ~0|C}

=8 &2 FoiLt 5F0{, FAKS, B) SE B=X
71 1oH AR5, It is[was]et that Alo[of] Z=

OII

Z=0of7of wz} that &l who(m), which, where, whenS & %= UCh.
It was yesterday that(when) | bought a book.

Tom used the phone in the classroom.
— It was Tom that[who] used the phone in

the classroom.o.z=
— |t was the phone that[which] Tom used

in the classroom. connez=
— It was in the classroom that[where]

Tom used in the phone.intheclassroom%‘zs
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-« BEEH ! each, every, all, both, always,
completely S &M= LIEILI= 20| F80{2} &
H 20|H ‘BSE ~Q1 A2 ofL|CP 2] Z=0|LC}.

o HAIEH : 2£30{7} any, any-, either2} &l

2 0]71L}, neither, no, no-, none, never 2|
01417} Q2™ ‘B ~J} ofL|Cy 2] 0]L].
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| don't know both of them. (-=|'--=-'--=|'-c‘>')
| know neither of them. (FFEX)"

Lhe 35 § S 0lk £ E oX =8t
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. 4.not A until B : B5}11 LIAMO} H|24 ASIC}

’._ He didn't know the fact until this morning.
. |didnt understand the data untilhe
) &3

explained it. - -iszsamoanzsomme
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- (B4, dhsko|) BAHF) +SAHF01
Xl =2 |- 2HO{(F) +=SAHFT0{+=2SAl

« So[Neither]+=SA}+301

of EE= that= 0|35}0{ &= o|O]|9]
242 LIEIY

=EH Ay | at the age of fifteen

* | heard the news that he
passed the exam.

Aojof XMZ=0] ,(comma) AIR

Mol 12 ' Too much food, | think, is bad
for your health.
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1. 4 BARe| =X

g4 EE eo| FAHS) S SE2| o] 2AH FRA]
() +SAH+F011 2| 0{=0] ElC}. EF, =0{7} CHHA}

- 91l A=20ll= =X|E|X]| 2=LC

- The rain came down.

- — Down came the rain.uz=-u-
- He walked down the street.

— Down the street E walked.z»a= wein 2e 2o
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-I =74 Al-Ol
y © =17
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2. 580 =x| - o0& &9 240l FH 'R30

L(-‘.l)+a=.§u+¥01 +EBEAL 02

no, never, nothing, not, seldom, rarely, hardly, scarcely, few, little (72|~ &cCl})

'Rarely does he work on the weekend.

FHA O= AHe| L2 S| Eect

" Seldom is he here on time. - ooz =0 742 91ct

beSAte] o= TbeSAHTO, 2 o
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3. So+(X)=ZAI+ZF0] / Neither+(=X)=SA+30]
-« 2HZ0]| CHet S| : So+(X)SAH+F0]

i ~E %)

= A | like tennis very much.

_ B So do l. ==
- A | am proud of my parents.

B SO am I.LFE:LEH.
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3. So+(X)=ZAI+ZF0] / Neither+(=X)=SA+30]
-« B Cf5t 2| : Neither+(X)=A+30]
- ~E OFEX] i)

- A ldon't like tennis.

- B Neither go I, =
-~ = A | am not a thief.

B Neither am |.-=oot
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| thatd} of

~ StLie| HAKRE, ®)7I CIE HAKSE, &)l 22 2j0|
0]74L} FIi= dYe o, S 22t sict S

- 2= #5Al thatO|Lt M X[A} of & 0] 6101 LIE}

~ LHC}.

The fact that he is kind is known to

The fact = he is kind

- everybody..ssscsiuz ez wnne
- I'm in the habit of listening to music at

the habit = listening to music at night
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sl - =& S0 2|o0|= Hstr] ol &glxl= LY
E M=0] ,(comma)& Z=LC}.

- The issue, therefore, should be considered
more carefully. zecz-=xscuzemoomor e

He is, so to speak, the hope of our team.

d= etAtH 2| Bl 5ol
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5. &gl : =& =0 2|o|=Z Hst7| Hell &telxl= LH

0l ,(comma)& =LC}.

1. 0|2 X AIEE|= EHOT
: however (Z12iL}), therefore (12{22),
moreover (A|CI7}), also (EEEH) S

2. IR0 2 Xl AIBEI= #
: first of all (M), in addition (AIC}7P), for
example (0|€ €M), that is (), so to
speak (25}X}H), | mean (CiA| 251H) S
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